0000 Garden O [0 [

Solution

0000 k0000000000 k-D0D000D0000000. 00,000 (z,y) 00000
oooooo r,, 000000OD0O00.000,0000000000000000D0O000CODO
200 k—00000D000D0DODOO.

000000000,00000000000000000,000000000000000
0000000000.00000,0w?-4) 0000000 k-0000000000000.
000,0w?-¢*) 0000 k-00000000.00000000,4-0000000000
0,00000000000000000000000000000. 000000000, 00
0000 O(w*-¢)D0000000D0000,50%00000000.

Model Solution

goooo0oOo,00000oooo0gobo. 0od0ooooD k—0O0000ooboboooooo
oooooooooooooooooooooo. R, O,100000 (1,1))00000000
0O (z,y) J0D0000D0O000000OD00O0OO0O0OO0OO. 00000000000, O(w-¥)
ooo,0000 R, 00000000000000O0O0O.

- 0 r=0000 y=0000
oy Rx—l,y + Rx,y—l - Rx—l,y—l + Tey oooo

0000000000,100000 (x,y1) 000000000 (x2,y2) 0000000000
ogoooo R(ml,yl,xg,yg)lil

R(l‘l, Y1, X2, 92) = R$27y2 - R$27yl—1 - R$1—1,y2 + Rﬁcl—l,!h—l

O0o00oooo0. 0ooog, R(ey,y,2ze,y2) 0 O1) 00000000 DO0O0O0O0OO. OO
000000,0000 k-000,0?-¢?)00000000.00000,0000000 k-
gbogooooooooboobooog.

gbog,boobooobooboobooboobobo.obbooboboobobobobooboboobo
g,.bgboooobobooboobgo,boboooboobobooboooboob,obo,boo
gboogoobooboobob,obobooboboobobbooboobobooooboboo
gbo.gooboob,o0boboooo,ooboboboooboo,boboobobooooboboo
gbooogooboobob.obooo,bbooboboboobooboobooobob.obobob, o
000000000000,000000000000000000000000, O(w,4)000,
goooogooobooobgn.

00,00000 (000000000000000)000000000000000000
gboooobooo. boobgooobooobobooobobooboboo.y=-000b0o0obbobboo
oo00,000000000 yO0OO0 K-00000000OC0O0O0 A4, 0000.00,0000
00000 yOOOO k-00000000000 «,0000.

Ay =min(ay,...,ay)



0000000000D0. ; 00000000000, 0000000000,0000 k-00
00000000000000000000000000. 0000000000,000000
000000 O(w?-¢2)00000.

0000000000. 0000 k-0000000000000000000. 00 k-000
0000000 Ak-000000000000000D0D0O00. 00000 k-000000 (00
000 k-000000000000000D0)00000000,1<y1 <y <wl00 (y1,ye
00000000.00000000000, (21,y1) 0 (22,92) 00000000 sliding window
000.000 x»y=2.=1000.000000000,2,>¢00000 sliding window 00 O
oooooo.

e sliding window U0 O DO000 0000000 (D000, R(xr,y1,22,y2) = k) 000,
000 k-0000000000.400000 (; D00 3000000)0000000,
0 1000.

o R(x1,y1,22,y2) <k OO0, 20, 01000, sliding window DO OO0
o R(x1,y1,22,y2) >k 000,22, 01000, sliding window DO QOO0

000000000 Ow?-4) 000000, (00000000)000000000 k-0

000000. 0000,000000000000000,000000000000000

O(w-¢-min(w,)) 0000000000,
0000000000000000000000000.



